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(Total : 560 Marks)
|. Vocabulary ( 100 Marks)

A) From a, b, c and d choose the most suitable word that best completes each g e

the following sentences:(5 X0 =50 Marks)

1. The police arrived as soon as the robbers had........................... the bank.
a. engaged in b. trespassed on c. gone along with d. broken into

2. Man is a social being and does not lead alan............. life unlike some other species.
a. solitary b. intrinsic c. legal d. treacherous

3. The sudden weather conditions ........................ the whole crop which led to famine.
a. compost b. decimated C. prosecute d. inject

4. It'struethat....................... reduces the volume of waste, but the deposit is highly toxic.
a. judiciary b. ethnicity C. proportion d. incineration

5. Certain areas of the Polar regions are frozen................. as they are farthest from the equator.
a. ultimately b. permanently C. nervously d. commercially

B) Fill in the spaces with the most suitable words from the list below:( ¥ 10=50 Marks)

(deploy- principle— carnivorous- precipitate- partnership- disgruntled)

6. Our organization works on the............ all workers have the same rights.

7. The devoted fangere............... after their football team had lost the match.

8. The Kuwaiti communitys grateful for the police who........... law to protect our live.

9. The economical expert believes the fallsades will............... the failure of the economy.

10. Crime prevention is effective when itis.a............... between the police and the public.
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Il - Grammar ( 60 Marks)

A)From a, b, c and d choose the correct answer that best completes each of

following sentences: ( &K 10= 40 Marks ) 60
11. She bought a bodlor herson .................. buying him his favourite game.

a. instead of b. whereas c. on the other hand  d. but
12.The game.................. better if the players had trained well

a. must be b. can be c. will be d. would have been
13. My parents will arrive................... Kuwait tomorrow morning

a. at in c.on d. with
14.The Avenues required detailed planning before they ............... with the project.

a. kequn b. had begun c. beginning d. had beemgeginn
B) Do as shown between brackets:(4x2€ Marks)
15. Many buildings are built. They want to rent them. (Join with: so that)

...........................................................................................................

17. My brother (study) law at the university for five years (Correct the verb)
18. I can’t give up eating junk food. (Complete)
T
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llI-Language Functions (40 Marks)
Write what you would say in the following situations: (4X 10 = 40 Marks)

19. A friend of yours is asking you about computer crimes.

...........................................................................................................

IV - Set Book (40 Marks)

Answer ONLY THREE of the following questions: (4X4.0= 40 Marks)

23. Why do you agree to send criminals to jail as a punishment?

40

...........................................................................................................

...........................................................................................................

...........................................................................................................
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V- Writing ( 120 Mark s)

120

Write on the following topic:

Some people enjoy hunting animals as a sport for different reasons, batoheve that many
animals have almost disappeared from the earth due to human acts.
Plan and write an essay of 14 sentences (160 words) discussing the two views aimagshow

which opinion you agree with and which you don't.

NB: (Your writing should include an introduction, two-body paragragita conclusion)

Outline (20 Marks)

IntrOductlon. .................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

....................................................................................................................
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..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

...............................................................................................................

...............................................................................................................

...............................................................................................................

...............................................................................................................

Outline Exposition of Paragraphing anq spelling | Grammar | Handwriting, spacing| Total
" ideas and number of and punctuation
§ coherence sentences
& 20 60 10 10 10 10 120
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VI - Reading comprehensionX10Marks)

Read the following passage carefully, then answer the gquestions below: 110

Everyone has a favourite attraction at an amusement park, and | am no differesteHow
unlike most people who seem to prefer roller coasters, my favourite ride is a litter . gewnery
time | go to Coney Island or the Santa Monica Pier, | absolutely have to ride the Ferris wheel.

The Ferris wheel is quiteomplex Riding it is easy, but how it works is complicated. A
series of carts are attached to a wheel, which is attachedirto &hat rim rotates vertically
around an axis, and gravity keeps the carts upright. As simple asi¢hseems, only advanced
engineers can make safe and fun Ferris wheels.

While the Ferris wheel is not as thrilling as a roller caagteis still very exciting.
Nevertheless, I don’t seek Ferris wheels out because of their excitement. Rather, I find them very
relaxing. At the top of the Ferris wheel, you get beautifulitsigf the park. You also get a sense
of calm that you don’t get in the hustle and bustle of the park below. Additionally, Ferris wheels
are also gorgeous to look at when they are lit up at night. Intfecgriginal Ferris wheel was
designed as much to be seen as to be ridden.

The first Ferris wheel was made by and named after George Wash@awferris, Jr. He
designed it for the Chicago World’s Fair in 1893. It was the tallest attraction there, standing 264
feet high. However, visitors to the fair were impressed by the sizeeofide as well as the
mechanics of it. In 1893, anything that was not turneddndhwvas considered a sight to see.
And the wheelyhich was a machine, was truly incredible to see.

Ferris wheel technology has only improved since then. Most of today’s Ferris wheels are
much larger than that first one. Today, the Ferris wheel is the esoashon amusement park
ride. But that does not mean you should take them for granted. Instead, be thankful for Ferris’
invention. The next time you’re at an amusement park, don’t just look up at the impressive

wheel in the sky on your way to a newer attracticake it for a spin!
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A-From a, b, c and d choose the correct answer: (5 x 10 =50 Marks)

28. What is the main idea of paragraf?
a. Childhood memories of amusement park.
b. The history of Ferris wheel
c. Why the author likes riding Ferris wheel
d. How Ferris wheels improved

29. What does the underlined wdwehich' in paragraph4) refer to?
a. ride
b. wheel
c. sight
d. hand

30. What is theOPPOSITE of the underlined worttomplex' in paragraph2)?
a. impressive
b. beautiful
C. exciting
d. simple

31.We can understand from the passage that the author wants to:
a. inform us of the author's favourite amusement park rides.
b. show the original design of Ferris wheels and how they work today.
c. describe the history of Ferris wheels and why they are so popular.
d. explain the history of Ferris wheels and why the author likes them.

32. According to the passage, the Ferris wheel was originally designed for:
a. Coney Island
b. TheWorld’s Fair
c. Disney World
d. Singapore

B) Answer the following questiongd4x15= 60 Marks)

33. How does the Ferris wheel work?

.................................................................................................................

.................................................................................................................
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VII- Summary Making (60 Marks)

. - 60
Read the following passage carefully, then answer the question below:

Google was the first search engine that began considering luindss are those blue
underlined words that take you to other pages when yok @h them. Google's search results
were much better than their rivals. It wasn't just the great seastiis that led to Google
becoming so well liked. It also had to do with the way that they presented their p(édogke's
homepage was, and still, clean. There's nothing but the logoedinehsbox, and a few links.
These days Google has its hands in everything from self-griséins to helping humans live
longer. Though they have many other popular products, théglwiys be best known for their
search engine. The Google search engine has changed our lives angwagedt is a standing
example that one good idea can change the world.

In FOUR sentences, summarise and paraphrase the previous passage in answer to the
following question: (4X15=60 Marks)

Why has Google search engine become so popular?

...............................................................................................................

...............................................................................................................

...............................................................................................................

Content / relevance of ideay Paraphrasing | Spelling and grammar Format Total

)
0
‘_g 30 20 5 5 60
x
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VIl - Translation( 30 Marks )

30
Translate the following into good English:( 2X15 30 Marks)

S Ak gl B a0 (A = all 5 0 510 s

o) A e Lo Jaaal) Lo Cany g ao gm

...............................................................................................................
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